Bicb : A H

PEETETHS

(#57% L) 2FZ

CRDFREELEL LI,

0 2y =
2 2+& =
® £y =
® S+L =
© |30+g =
6 >+p =
? Zﬁg =
-

(DTWVWFEIEIL->DYRZTYFELLI, )

WTBTURY ALY



@&@@W@ Bzt : B E
ﬁms}%gsu § 233

CROHEELIL LS. OTVEEL-HYRZFYEL LS, )

O gtz = gX T = g g (lg)
5.2 _ 5,5 _ 5x5 _25 ., 7
2 G 5 T %5 T gy — s (Ig)
4 .1 _ 43 4x3 12,2
® 5 3 = 5XT T 5% —5 (2%)
8.7 _ 8.8 _8x8 _ 64, |
@9'8_C7X7_q><7_63('63)
o 3.5 _ 3.7 _ 3x7 _2l
0- 7 T 10 5 10«5 50
5.3 5.5 _ 5x5 25, 4
©7T5_7X3_7><3_2|('2|)
o 9.4 _ 9,5 _ 9x5 _45
675 S 4% 4 T Thx4 ~ 56

WEIBTBRIVAY





